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2x2y from question #4 is

shown below. Draw the particular solution y

dy
dx

5. The slope field of

)

when f(3) = 1 that you found in question #4 on the

slope field.
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Find the solution that satisfies the given condition.

2x%y and y = 1whenx =3

dy
dx

4.



!

)
!

!

B

x3

!

2

x3-18
1

y = e3
el8

2

Pt
(IR T T
which turns into

[ A I A AR S S Y

from question #6 is
| GV A I A A

\
g

4.y

*

1

y

x+2

2, -

dy

dx

t s -
2
X er

T LA
LR A A A A AT A
AR
[ N R
(SRR T N A ]
BV NN NV VY VY

A R o )
TNNS YNV

A N A A iV . P A B A Y AT

R I S e T Y T TR T T

LA L S AT T U L T Y T T T UL Y
B N N T T T I T N T WL Y

W, e | A Em |Em e
NS NN = e s
MV AN S|
-4

L

which turns into

when f(—2) = —3 that you found in question #6 on

shown below. Draw the particular solution y

the slope field.

7. The slope field of

-3

ANSWERS TO CORRECTIVE ASSIGNMENT

d y=—-2whenx

— an
y

x+2

dy

Find the solution that satisfies the given condition.
dx

6.
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